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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. D(:’n/w'has formuta: :91)}06(43’:’; 11

mass x volume (-‘-'h xJb (B) volume/mass Fb[;jt
(C) areafmass [\ (D) massjvolume Jtlﬁb
2. Which of the following materials has large value of temperature S dls Md)&dﬁf;uﬁdi(w 2
coefficient of linear expansion? &“g&m}& Jed
(s\)/,ﬁmuminium A (@) seel S (C) Gold 2 (©) Brass J*
3. What happens to the thermal conductivity of a wall is its thickness is doubled? :&:;,‘-C’:U;ﬁ{a/ Wadtrdigy” 3
(A) bgcomes double ‘calgni'ﬁ; (B) remains the same 9&4}:
(Oybecomes half < Jesif3T (D) becomes one fourth & Jlpsdidg (]
4. Aninterval of 200 us is equivaient to: e bl Siin A200 4
(Ay02s (B) 0.028 (6y2x10*s (D) 2x10°S
5. By dividing displacement of a moving body with time,we obtajn: ‘e by} b;L/ﬁi:ﬁ;fﬁJﬁLﬁJ}' u’r 5
(A) Speed Ay (B) acceleration HHH (©f Velocity (1 (D) Deceleration RS}
6. Newton's first law of motion is valid only in the absence of: ?q_thleuiF%LJﬁui&ﬁrZJuf 8
(A) Velocity u" s (BJ Net force (jj}-‘g" (C). Torque S (D) Momentum f“‘"/r
7. Sl unit of acceleration is: p ) :‘L.:«‘gSIKw"-}“(l 7
(A) mS" & ms? (C) m?S (D) mS?
8. A force of 10N is making an angle of 30° with the horizontal. Its w}w-‘aét‘,,urso"iué fg-xw}._ﬁwgw 8
horizontal component will be: :Kﬁw:!‘};f(
T (AVAN 1By 5N {C)y 7N )-8 7N
8 Tergue T isequalter - - - —— e gtz TS
e e — I ___(E;a; e e ‘ I
10. The value of g on moon's surface is 1.6mS . What wil be the weight of a - 16ms?edf g bilhy 10
100Kg body on the surface of the moon? -(nu;:b’(’-..gz.’_wOKg
(A) 100N 160N (C) 1000N (D) 1600N
11. If the velocity of a body becomes double,then its kinetic energy: :&)u@ésﬁﬁiam,w@&m{ﬁgﬂ't 11
(A) remains the same ¢ (uzsY (B) becomes double < Jist/s
(C) becomes four times < Jlpxtl becomes half < (lprwid
12. The energy of a moving body during mation is called: :‘a(}lkfdi'&ﬁu{glm&_-/] 12
(A) Nuctear Energy . H2% (B) Chemical energy (/1<
©0f Kinetic energy /1 e (D) Potential energy  G.APY
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Time: 1:45 Hours Total Marks: 48
Section-1

2- Write short answers of any five part from the following. 2x5=10

i. Differentiate between scalars and vectors,
iii. What are prefixes?Give an example,
v. What is the law of Inertia?
vii. Write two ways to reduce friction. vii. What is di
3- Write short answers of any five part from the foli
i. Define like and unlike paraliel forces.
iii. Define clockwise and anticiock wise moment.
v. What is meant by an ideal system?
vii. What is the unit of /

ii. What is meant by vernier constant?

iv. Define/speed and velocity.

vi. Define acceleration and write its formula,
fference between base quantities and derived quantities?
owing. 2x5=10

ii. Define Geostationary orbit.

iv. Define force of Gravitation and give two examples,

vi. Define Torque and write'its formula.

iﬁan,

i itei SI
fii. Define density. Write its unit in S|

v. State Hook's law. vi. Why does
vii. Differentiate between conduction and convection,

i What is meant by atmospheric pressure?

iv. What is meant by thermal equilibrium?
transfer of heat in fluids take place by convection?
viii. Define specific heat capacity and write its unit.

Section -II 9x2=18

Note:. Answer any two questions from the following.

§. (a) With the help of speed-time graph prove that Vi=V;+at. 04

{b) How much is the force of friction between a wooden block of mass 5Kg and the horizontal marble 05
floor?The coefficient of friction between wood and the marble is 0.6,
6. (») Define equilibrium and explain the first condition of equibrium. 04

(b)Calwlae;mepowerofapumpwhichcan lift 200|
7. (a) State Pascal's law and explain hydraulic press.

Kg of water through a height of 6m in 10 seconds. 05

04
(B) A brass rod is 1m long at 0°C.Find its length at 30°C.(Co-effcient of linear expansion of brass=1.9x10°K"). 05
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NOTE: Write answers to the questions on objective answer sheet provided. Four possibie answers ABC&Dto

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1.1. The value of latent heat of vaporization is:

(A) 2.26x10°JKg"™"

2. In solids,heat is transferred by:

(A) Conduction o~/ (B) Radiation /It
3. Heat from fireplace reaches us by:
(B) Radiation RIgts  (C) Convection 57 (D) Absorption ¢Sl

(A) Conduction 2"

f‘L.Jst.'/z d:.:/l](}? &-fi'/'m;-: 1.1
(D) 2.26x10%)
e IHheinJBLSF 2
(C) Convection Lf{/ (D) Absorption Sz

:c"_ﬁ;:/l/gujﬁ:d‘/aﬁ 3

(B) 2.26x10°JKg" (C) 2.26x10°Nm

4. Theinterval of 200 4s is equivalent to:

(A) 0.2S

5 Amount of a substance in terms of numbers is measured in:

(A) gram (l/

6. By dividing displacement of a moving body with time,we obtain:

(A) Speed  4¢
(C) Velocity (s

(B) 0.02S

(B) Kilogram, (1

(©) 2x10*s

(C) Newton /%

e GrloBitiE:.£200 4
(D) 2x10°S

SRS AR S

(D) Mole J»

1§.bﬁuwb;'¢/ﬂjz::’1fg«fkd5£ﬁjf%f 6

(B) acceleration e

(D) Deceleration 213

7. A change in position is called:
(B) Velocity (Us
(D) Distance, i

(A) Speed  ir
{C) Displacement ..A/-J‘ 3
8. Which of the following is the unit of momentum?

i‘aéﬂﬂé’u-'cf’"i{.’ 7

?lcﬁzb/f?}’U:(L‘ﬂJ_’L?/xf 8
(D) NS

_»:/flck-b)lu_’a@/‘d/,,‘{gﬁd,gﬁ_g 9

(A) Nm (B) Kgms? {C) NS
9. Abody satisfies second condition of equilibrium if: o
W X F =0 ® > FE=0 © D F=0

I " 10_The value of gravitational constantis———— e o
(A) 6.673x10"'Nm?Kg®  (B) 66x10"'Nm’Kg* (€) 9.1x10¥Nm?Kg?

11. The unit of energy is:

(A) Watt 215 (B) Joule Uz (C) Newton /¥
12. One pascal is equal to:
(A) 1Nm? (B) 10°Nm? {€) 10°Nm?
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(D) 1.6x10"™Nm*Kg?

e b 1
(D) Mole J»

et fpdl 12
(D) 10°Nm?
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Phys1cs (Essay Type) Group-II (For all sessions)
Time: 1:45 Hours Marks: 48
Section-I
2- Write short answers of any five part from the following. 2x5=10
i. Define prefixes and also give an example. ii. What js meant by vernier constant?
iii. Why rolling friction is less than sliding friction? iv. Define vectors and scalars.
v. What is International System of Units? vi. Define position and aiso give an example.

vii. Define momentum and write its unit.
viii. Can a body moving at constant speed have acceleration?Justify your:answer.

3- Write short answers of any five part from the following. 2x5=10
i. Write two uses of Artificial Sateliites. ii. Define Axis of Rotation:
iii. Write the value of 'G' and its S.! unit. iv. Define potential energy and write its equation.
v. Define centre of gravity. vi. What is difference between like:and unlike paralle! forces?
o vii. Define efficiency and write its formula. Vii. How can the mass of earth be determined? o
. Mho&amohny—ﬁv&pa&#euﬂheioﬂmt 2x5=10 = i
- Defive pressure ard writs ItS-unitin ST, ii. Why conduction of heat does not take place in gases?
jii. Define tensile strain.It has no unit Why? iv. How does heat reach us from the sun.
v. Define the terms heat and temperature. vi. Define specific heat and write its unit in SI.

vii. State Hook's law.What is meant by elastic fimit?
viii. What is meant by evaporation?On what factors the evaporation of a liquid depends?
Section -1I 9x2=18
Note: Answer any two quesﬁons from the follmmna
§. (a) Derive with the help of graph that  2aS = V‘ V'
{b) How much time is required to change 22NS momentum by a force of 20N?
6. (a) Define eguilibrium. State and expiain the first condition of equilibrium.
(b) A cyclist does 12Joules of useful work while pedalling his bike from every 100 joules of food energy
while he takes. What is his efficiency in percentage? '
7. (a) State Pascal's law and explain hydraulic press.
(b) A container has 2.5 litres of water at 20°C. How much heat is required to boil the water?
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